YHH-B IR

m B £ D

&t

B8

DGR R

EE\

7€ 3h [X

)

\
—
JETRE 2

PR
0

F k2841 A28 HAIE

B 4

(BpL- <40 —AR)Lk)

% BEOMR AEES 57 BEOMR AEBS
100cm| 50cm 5cm 100cm| 50cm 5cm
D F7ARI7ILE 0.050  0.060  0.060 FAI7ILE 0.030 | 0.040 0.030
@ F7AI7ILE 0.040 0050 0050 @ F7RI7ILk 0.030 | 0.040 0.030
@ FARI7ILE 0.040  0.050  0.030 FAI7ILE 0.030 | 0.040 0.030
@ A>4—0Ovx>4 | 0060 0080 0060 G * 0.040 | 0.050  0.040
® FARI7ILE 0.050 0060 0050 @@ =3H—hk 0.050 | 0.060  0.060
CREPZ E=DE) 0.050 0070 0060 @ JL—F%F 0.070 | 0.080  0.080
OREPZ E=DESY 0.060 0.080 0.070 JL—F25 0.050  0.070  0.050




